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Linear functions are written as:

Examples:
FO) =mx + b (slope-intercept) 1. Find the equation of the line that
goes through (1,1) and (5,7).
or SiLope = _i:__L:'_C’,:.}:\,S
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1. Compute slope: m = 22~

Xp—X1
2. Write:y=m(x —x1) +y; 2. Find the equation of the line that

goes through (4,1) and (6,15).
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Line Facts:
Ex) 5Sx +24 =20

- Anything that can be writtenas _— Qire
Zj =720 -~ 3 x j
ax + by = c (e, — 8y
: : q= g~ TR =025
gives a line. . |
- The x-intercept is the x-value Bxy Sw €24 = ml 5 x40 =20
where the line crosses the x-axis. — 3 = G
Note: At this point, y=0. Lot
- The y-intercept is the y-value 1 = f ty=20
: : = [g =18,
where the line crosses the y-axis. 3;"@-5- D
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Note: At this point, x=0.

Two lines are parallel if they have
the same slope.
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y = h gives a horizontal line.
- x = k gives a vertical line. GeaphoF y=F |
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1.3 & 1.6: More Linear Business Apps
Recall: If p = price & FC = TC(0), then

Totals
TR(q) = pq,
TC(q) = FC + VC(q)
P(q) = TR(q) —TC(q)

Overall Averages
TR(q)
AR(q) = —— =
. Ve
AC(q) = et LAVC(q) = reta)
q q
Marginals
_ TR(q + 'one item’) — TR(q)
MR(q) = (q + 'one item’) — q
TC(q + 'one item') — TC(q)
MC(q) =

(q + ‘one item') — q



Example: You sell Objects. Each object P TC bwan = TCL = mlx-x)+y,
sells for S5. Your total cost function is =R bed ; (sfg o '2_?(‘% -
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(b) ... TR and Profit?
(c) ... MR, MR and MP?
(d) ... AC and AVC?

For what quantities do you make a
positive profit?
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Midterm 1 is Thursday

e Sup 1-9,1.1-1.3, 1.6 (pt1)

e In your normal quiz section.

e Four pages of questions.

e You get 50 minutes.

e Allowed:
Ti—30x IIS calc (only this model)
8.5 x 11 inch handwritten notes
Ruler
Something to write with
(No red/green pens)

e Multiple versions of the exam. We
report all suspicions of cheating.

e Show/Label your work.



Studying notes: - There WILL be a page with some

- There WILL be problems/graphs algebra (things like you are doing
directly from homework. inthe 1.1-1.3, 1.6(pt 1) HW.

- There WILL be at least two pages - So be ready for all these things!
of overall graphs where you have After you have mastered all the
to draw lines to compute/use homework, then practice your
rates. At least one of those will understanding using exams from
involve TC or VC and the key the exam archive.

business applications!

- There WILL be a page that has an
incremental graph (like change in
temp or MC/AC/AVC, etc.) But
your ruler away and correctly read
off your answers!



